Non-Calculator

Q1.

Hereis a sketch of y=siNnXx® for -360 <x <360

1 &

Y

() [=] X

(@) Write down the coordinates.of P

Answer ( , )

(1)

(b)  Write down the coordinate®.of

Answer ( , )

(1
(Total 2 marks)
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Q2.

This is a sketch graph of y =sinx  for 0° =x < 360°

Ya

1 .

o ape 18 270° go ¥

(a) Write down the number of solutiofi@r sin x = 0.5for 0° < x < 360°

Answer

(b) sinx=sin10

Write down the valuefof £0° < x <180°

Answer

(1)
(Total 2 marks)

Q3.

Which of these values cannot be the cosine of an angle?
Circle your answer.

-0.5 0o 0.5 1.5

(Total 1 mark)
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Q4.

(@) Circle a possible equation for the graph shown below.

V4 |

y=- Yy =sinx y =2x y =tanx

(b) Circle a possible equation for the graph shown below.

_1!.' & |,"I|I
|~ i
0 X
] :
Jv=¥ y=sinx Yy =2x y =tanx
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Calculator

Q5.

The graph shows y =sinx for 0° =x = 360°

Vi

0 R O NP ER) e AN SR o) S ER) T et
" gpe 180° 270° 3600 X

(a) sinx=siNn 60° and 90° < x <360°

Work out the value of x.

Answer

(b) sinx=-sin60°and 180° < x < 360°

Work out one of the values of x.

Answer

Mm
(Total 2 marks)
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Q6.

Four graphs are shown ford85°< x

Graph A Graph B

Yah Y i

| / IRV

Graph C Graph D

Vi Vi

0 mg ?:D x i 180 360

(a) Which graphasiy x?

Graph
(1)
(b)  Which graphai€gs x?
Graph
M
(Total 2 marks)
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Q7.
Nick sketches the graphssfryx > 0

"I-' F

0.5

=Y

0

Make one criticism of his sketch.

(Total 1 mark)
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Q8.

The graph y=cosx for 0°=<x < 360°isshown.

Vi
2
] >
0 ap® 180° 270" 360° L
—1 —
-2

Write down thwo solutions to the equationcos X = 0.5 for 0° < x < 360°

Answer degrees

and degrees
(Total 1 mark)

Page 7 of 11
AQA GCSE Maths - Further Sketching Graphs (H)



Q9.

The graph of y=sinx for 0°<Xx <360° isshown.

A

2

1 —

uﬂ“ a0° 1805, 270° B60° :t;
N ya

) N>

2

(a) On the grid below, draw the graph f=1+ sin x for 0°=<x < 360°

The graph of y = sin x is shown to help you.

Va

2

1 e

J'Jj MN\
s .
ra A
& A
0 >
0° 90° 13(]“\ 270° /36{]“ X
ey &
_1 R -~ B —-F
-2
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(1)
(b) On the grid below, draw the graph §f= Sin (X90°) for 0° <x < 360°

The graph of y = sin x is shown to help you.

}'u
2
1 -l"--.-. l--"\.
ra F L"\
s .
/ g
0 -
o° a0 18{]"\ 270° Je0* x
S I_.--""'Il
_1 = ~_ B =
-7
Mm
(Total 2 marks)
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Q10.

The depth of water, d metres, in a harbour at a time, t hours after 12 noon, i
d =10 - 4 cos(30t)°

(@) Complete the table of values.

t | O 1 2 13| 4 5 6 7 8|19 |10 11 [12

dl e |68 [10]12] 135 |14 | 135 [12]10] 8 | 65

(1)

(b) Onthe grid, draw the graph ofd = 10 — 4 cos(30t)° for values of t from O
to 12.

d A

14

13

12

1"

10

(2)

(c) The depth of water must be at least 9 metres for a ship to enter the harbour.
At 12 noon a ship is waiting to enter the harbour.

Use the graph to estimate the earliest time the ship can enter.

Answer

(2)
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(d) Adifferent ship enters the harbour at 4.15 pm.
The ship must leave the harbour before the depth of water falls below 9 metres.

Use the graph to estimate the maximum time the ship can stay in the harbour.

Give your answer in hours and minutes.

hours minutes

Answer
(3)

(Total 8 marks)
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